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O0F:[0,1]xI"— X0 F(t,z) = f(tx) 000000000X 0000000
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1
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. 1
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1
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4 1
) it e [0~
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4(1 —t1) . 2+s
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. 1
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oooo
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f@tita, .. te) if 1 €0, %]
1
F(2—=2t1,ta, ... t,) if t1 € [5,1]



bx if t1 € [O,%]
S
21 — s,lo, ... tn if  tefz, =
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F(2—=2t1 —s,ta,... t,) if t;€ [5,1—5]
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O0000foHO foap~foa, 000000000000
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ooo
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(X,bx) — (Vby)OUODODOOa : (I™0I") — (X,bx) OOOOF o«
OO0 fyoa, fioa: (I"0I") — (X,bx) DOOOUOOOOOOOOOO
O0(fo)«([o]) = (fu)«([e) DD0OO0 [o] emp(X,bx) 0D 0DO0D00O000O0O0O
(fo)s = (f1)«
000 4.50 (X,bx), (Vb)) OOOOOOOOOOODOODOOOOOm,(X x
K (bx,by)) = ’7Tn(X, bx) X Wn(}/, by) oOooo
od4500000pry : X XY — X, pry : X XY — YOOOOOOO
fImoI") — (X xY,(bx,by) D000, fx =pryof: (™ 0I") — (X,bx),
fy =pryof : (I"0I") — (Y,by) DO0DODO0O0O0OO0OO ((pry)s«, (pry)«) :
7Tn(X X Y, (bx,by)) gﬂ'n(X,bx) X ﬂn(Y,by) gooooo

D00D000000000000]g] € m(X,bx), [h] € m(X,bx) 00000
(g,h) : (I™,0I") — (X x Y, (bx,by) D00 O0pryo(g,h) =g, pry o(g,h) = h
goooo

0ooO0oooo0ooo0o0fx >, OOOO0O0DOOOO Fx :[0,1] X
(I",0I") — X, fy ~ ¢, 0000000000 Fy :[0,1] x (I",0I") — Y O
OOOD0F = (Fx,Fy):[0,1] x (I",8I") — (X,Y) 00 f ~ oy pyy 00000
goobooooo

0004.60 n>200000m(X,bx)0000000000000
0000f: (" oI") — (X,bx),a€c (0,1)0000

1 1
ti—= by — =

2 1 2 1 L
fa(tla'”atn): f( a +2a---7 w +2> (VZ7 |t’b

bX (327 |tz -

| | =
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O00000fA =/, /0 f000000000000 000000 5
0000000000b,00000000000000 g0 ¢gif 0000
0000000000000000

000460000000

00460000n22000007m(X,bx)0000000000000
0000000 »00000000000000,22000000 570
0000m(S",bsn) =0 (1<m<n—1), 7 (8", bgs) = Z000000
000, (S"bs)0 (m>n)0000mO00000000000000
0o0oooooo

4.2 0O00O00O0O0OOODO

0000, 0000 idy : (X,bx) — (X,bx) 000000 (idx). =
idy, x5,y 0000000000 430000000,0000000000
000000000000000000000000000

0000000000000000000.-0000000000000
00000000000000000000000

e D00DD0O0O000000DDD f:(X,by) — (Y,by) 000000
feim(X,bx) — 7w, (Y,by) D000 OO

o OO idX : (X,bx) — (X,bx) gooood (ldx)* = id‘n'n(X,bx)
oooo

e 0DODOD f:(X,bx) — (Yby), g: (Y,by) — (Z,b2) 000000
0000000 gofe =(go fs:ma(X,bx) — m(Z,bz) D000

000000,00000000000000(0000000000000000000)
0000000000000 (0,00000)00000000000000
0000000000000000000000000000 (X,bx), (Y,by)
00000000000 -,0000000 m(X,bx), m(Y,by) 00000
000000, (X,bx) 00000000000000000000000
ooo

00000000000000000,000000000000000
0000000000 100000000000000044000000
00000000000O0O0O0OO0O0OO0

e 00D0D0D0O0O0ODO fo, f1:(X,bx) — (YV,by)0O0ODOD0O0O000ODO
0000000000 (fo)s = (f1)s:m(X,bx) — m(Y,by) 000D

gbbonbOO0O00ODOOOOOODOOOOOOODOOOOOOODOO
0000X0000000U0o0oooo0on,(X,bx) 0000000 by
goboooboboboooboobooo

000 470 0O0O0OO0OODOOO XOOOOm(X,bx)OOOOODOOOO
bx OOODOD0ODODOO0OOOOOO0DOO

00047000006k € XOOOOObx, by 00000 v (y(0) = bx, 7(1) = by)
D000t ..., tn) =+(t) 0000t = (t1,...,t,) € I" 000 O dist(t, 0I") =
min{[ta], [T = ta], .. s |l [1 = £} DO 0D f € Map((I™,0I™), (X, bx)) 00 0 0
Tl (I",0I") — (X,by) 00000000

B v(1 — 4dist(¢, 0I™)) (4dist(¢,0I™) £ 1)

Tuf = ﬂ%+%h7;,w%+%mf%» (4dist(¢,0") = 1)
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000 g € Map((I™,0I"),(X,b%)) 000 0ygg: (I",0I") — (X,bx) 0000
gooo

~v(4 dist(t,01I™)) (4dist(¢,0I™)
1

1)
T#9 = {g(% +2(t — %),,% +2(tn — 2)) (4dist(¢, 0I")

1)

=
z

¥,000000%9, : m(X,bx) — m(X,bx) 000000000007,(f) =
7#(f)|]7#(f1)h7#(f2) 2’7#(f1hf2) ogooooao
0000 7,(f) =%,f 0000

fi, f2: (In7aln) - (X7bX)DDDDD7#(f1hf2)7 (W#fl)h(ﬁ#fl) : (In7ajn) -
(X,bx)00000000000000000000000

F(s,tl,tz,.. tn )

1 1,1 1 1 1 3 1 30—
fl( g 4( 7)77+2(t277)7 ,*+2(tn**)) te [7+§77+§] X [777} !
= fé_f At i)i+2(t__) i+2(t _i))te[g_f§_f]x[i§"*1
21738 2772 2 "2 "2 8 88 8 "lpy
v(a(s,t)) t0o0000000000
ogooo
It
. t1 11—t LY
(1(,9,15):1rnln{l—~_| 1|—s’ l| 1—|s’ T 2 +1—s,4|ta], 4[1—t2|, ..., 4[tn],4|1—tn[}
8 8 8 8

gobooooooobooooooobboooooooboboo

LI|Nn|nl
T

00007, : m(X,bx) — ma(X,bx) 0000000
000 7% 000000 7. : (X, by) — ma(X,bx) 000000
v47,f0 f0000000000000000000000000000

v(4 dist (¢, OI™)) (dist(¢,01™) = b)
F(s,t) = Y(3(1 — s) — 8dist(¢,dI™)) (IT < dist(¢,01") = M)
1 1 1 1 ny > 3(1—s)
f(§+(4—35)(t1—5),‘..75-{-(4—38)(751—5) (dist(¢,01™) 2 T)

0004.80 000000000 XOUOOOm(X,bx)0OOOOOO CO
00000000 [SL,X)]00O0OO00000O00000000000000
googno

000480000

o ([0,1],{0,1}) — (X,bx) 00O0D0OS' = {&™V1 ¢ c}yDOOODO
Cla)(e*™V™ %) =) 000000000000 0000000000000000
Blla][f] ™ € m(X,bx) O, (B 0000000000000 0000R(t) =
B(s+(1—s)t) 00 00OC((Bsha)hBs) 0000000000000 000 C((Bha)sfB)
O C((Biha)yf) 000000000000 (Biha)iBi = (coyha)icsy ~a 0000
C((Bh)fB) ~ C(a): S* — X 0000
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000000000f:8 — X0000bx O f1)00000 y:[0,1] — X
(7(0) = bx, ¥(1) = F(1) DO OO B(f)(1) = (Y1) D000 (+B(f))y 000
000[(vB(MHIY] € m(X,bx) 0000000000 C((v4B(f))y) ~f0000

00000000, 3: ([0,1],{0,1}) — (X,bx) 00000C(a) ~ C(B) :
S' — XO0OOO0F:[0,1]xS' — X0 C(a),C(8) 00000000 (C(a)(e*™V 1) =
F(0,*™71), C(8)(e*™71) = F(1,e>™Y7") 00004() : ([0,1],{0,1}) —
(X,bx) 0 ~(t) = F(t,1) 000000G : [0,1] x [0,1] — [0,1] x S* — X
0 G(t,0) = (4™ ) 0000at) = (Fo G)0,t), B(t) = (Fo G)(1,t),
Y(t) = (FoG)(t,0),7(t) = (FoG)(1-t,1) 00D O(v48)5Y ~ o : ([0,1],{0,1}) —
(X,bx)00O00«, B0 m(X,bx) 0000000000

000490 »00000"00mO0000000000 R™O0000

Uyooooon f: /" —U0000000 00000000 00

000g: I" — U O sup |lg(t) — f(t)|| < e 000000000000
teln

(1-s)g(t)+sf(t)eU0DDDDDOODOO
000490000000

4.3 n0O00

000 4.100 k0200000000008 ={ze R"| |z =1},
DF={zreR"||2z|<£1}00000000000 X0O000O0O0 bx0OO
O0@Mm 1 (X,bx) 000000000000 00000 f:8%! —X
0000g:DF — XDOygloD* = f00000000000000000
00000000

000 4.100000D"" = {(z1,...,2n4)R"™ | 222 + -+ + 2 ® < 1},
5" =0D" ={(z1,...,enp)R" |2’ +-- + 2, =130000

0000000 ¢:[0,1] x I™ — D™ 0 o(d([0,1] x I™)) = S™, ©(]0,1] x
AI"U{1} x I") =b e S", ¢[[0,1) x (0,1)" 0 D"\ {p} 0000000 O0CO0
Doooooon

[0,1]xI"0 [-1,1]x[-1,1]"0000000000000000000([-1,1] x
[-1,1]"00000e 00000 ¢000000

0000000000000 ¢ : [-1,1] x [-1,1]" — [~1,1] x [-1,1] 00
o([-1,1] x [-1,1]" U {1} x [-1,1]") = {1} x [-,1]" 0000000000
0000(2,0,...,000000000 ¢00[-1,1]x[-1,1]" 0 ¢, {00000
O000000000¢:((1 —wtf +ut]) = wutd+ (1 —w)t! 00000000
@Z)(S,tl,...,tn):¢1(—S,t1,...,tn)DDDD

00 «:[-1,1] x [-1,1]" — D" 0 b= (1,0,...,0) 0000000 mO0O
[-1,1]x[-1,1]"0 b, ¢t 0000000000000D™! 0 b, ™ 000000
0000000000000007((1 —wb+ut™) =(1—ub+uz™ 00000
00000x({1} x [-1,1]") = (1,0,...,0) 00007 0 [-1,1) x [-1,1]" 0000
0000000000000

p=moyy000DOOOOOD
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0o0o00oon ¢:[0,1] xI™ — D™ 0 ¢(8([0,1] x I™)) = S™, «(]0,1] x
AI"U{1} x Iy =be S™, ¢[[0,1) x (0,1)"0 D"\ {p} DODOODDDOOODDOO
Uooooooo

000000 000000000000 o {(U)0000000000000
00000000000 WOOO ¢ '(W)00000000WOoOO00000000
D0000beWDOO0e *(W)DODO0DO000([-1,1] x [~1,1]"\ ¢ Y(W) C
[—1,1] % [-1,1]"\ ¢~} (5) 00000 0¢|([-1,1] x [-1,1]" \ ™' (b)) O D" '\ {b}
00D00000000¢([~1,1] x [-L,1"\¢ Y(W))=D"""\wWooooooo
Owoooooooo

0000 X0O00000 G:[0,1] xI™ — X O00p([0,1] x dI™ U {1} x I™)
000000000000 G: D" — XO00OG=goeODOOO0O00ODOO
O0000F : " — X09["000000000000 f:8" — X0O0O
F=fo(p{0}x I O0OO0D0D0D0OO0O

000000000000 000000

XO00O00O0D0O m(X,bx) 2 {0}0000000 f:8" — XOOOOfo
(@|{0}xI™) : ({0}xI™, {0}xDI™) — (X, £(b)) 0000000000 m. (X, £(b))
{0}0000G: ([0,1]xI",[0,1] xOI" U{1} x I") — (X, f(b)) O fo(p|{0} xI")
00000000000000 GOOOOOG=goeO00g:D™ — X0O0O
000glS"=f00000

000 f: 8" — X000OOg: D™ — XOgls" = 0000000
000000, (X,bx) = {0} 000000 a: (I",0I") — (X,bx) 0000
(1™, 01"y 0 ({0} x I",{0} x 9I") 000000000 f: (S*b) — (X,bx) D
a=fo(ol{0}xI")0000000000000D0000 fO00000g: D™ — X
0g|/S"=f0000000000G=g0e00000G:([0,1]x1™[0,1]xdI"U
{1} x I") — (X,bx) 0000G{0} x "=a000000a~c, 0000
000 4110 00000 /" 0000000000 8"0000mO
O00000000 R"O000UO000D0OObeUDOOOOOO
f:(ImoI") — (U,p)00000f: (I"0I") — (U,b)00000000
ooooodg: (I™,oI") — (U,b), f: (I™,0I") — (U,b) 000000
ooooooooo f: (™ot — (U,b) 000000000000000
00000000000 ,00000000000000000000

gbooooooooooobobooooooboooboon

0004110000000

000 4120 k<n-100007m(R"\{0},bgm o) 200000000
00

k<nOOOOm(S"bg) 20000000000

000 4.120000000

5 UOO

5.1 0O0O4goono

00 R/ZODOODOOO0O0O0p:R— R/ZOOOO

00000000000000 fi, f2:[0,1]] — ROOpofi=pof, O
00000000000 nO00000fi(2) = falz)+n 000000000
000000po(fi—fa)=pofi—pofa=00000f —foecZ000
0oof-f,000000000[0,1]0000000000000000n
00000 fi(z) = fo(z) +n0000

0000000 0,1]0000000000 f:00,1]— R/ZOOOODO
000 f:00,]] —ROpof=f000000000000000000
0000000000000000000000
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(1). DOoOoOooooOoOooooOoooo
Vo=(-5.3) mod 1, ¥i=(0,3)
O0ooO0oOooooénOoOoUoo01]000d 0600 B,(0)OO
f(B.(6) 00V, V1, 1, 0000000000000000 [0,1]0000
U= f~(;)000D0[0,1]0000000 gi(z) = dist(z, [0, 1]\ U;) (i = 1,
2,3)000000000000000000000U,UU,UU; =][0,1]0
00O max{g1,92,93} > 0000 0max{g1,92,95} 00000000000
0000600002 €(0,1)]0000000+000000gi(x)26000
D00000B,() cU; 000000
(@.mDDDDD5DDDD%<5DDDDDDNDDDDMHD

2
mod 1, V5= (—5,0) mod 1

-1 ~
DDNDDDDDDDDD[%vﬁ%}mnzL”wN)DDDDm:
m—1 m ~
Pjrﬂﬁ]—aRDDpoﬂI:fwn_lm oooooooooo
N 'N
m—1 m )
00000 /("5 %)) C%000i00000000%0000000
11 P
(-5,3) 00000V 0000000(0,3) 00000%0000000
5 - -
(-3, 000000 JaOpofu=/| m—-1 m,00000000i00
[<N’N

000000000000
(&.DDDfDDDDDﬁnDDDDDDDDDDD%%DDDDDDD

DDDDDDDDDDDDDDﬂ[l =f0000f] ,,_1.000
0

"N " N ]
m—1

~ ~ m-1
DDDDDDDDDpoU@TTJ—ﬁATN—»ZODDDDnmeZDD

=n,00000000000000f] jp—1 m
N ﬁﬂ
000000000000 000000000

~m—1 ~ m-—1

I( —fm(——)
m
B [0, %]
0ooo f:[0,1] —ROODOOOODO
ooooooogo,1?0000000000 F:[0,1?— R/ZDOOOO
0000 F:[0,1?— RO poF=FOO0O0000000000000O
0ooooooo

(1). 0000000060000000 [0,12000 20600 B(6) O
0 F(B,(6)00V,, V4,V,000000000000000 (1)00000
ooog
(wmnmmmmmammmm%<—immmmmmNDDDDDDD

. V2
DWJPDDDDDDDEVDDDDDNQDDDDDDDDDDDDDDD
my—1 my me —1 mgo ~ ~

Kmlm2:[ N 7?] [ N 7W]DDDDFm1m2D7POFm1m2:
Fl|k,.,., 00000000000

@)mmeDDquDDDDyFMM:FHDDDHUM%MMKWQ
00000000000F|k,.,, O Fnime+mims (Mmum, € Z)000000
0000000000 Kpym, 0 | Kk, 000000000000

k1k2§m1m2

gbooooooboboobobooboboooboo ﬁ‘Ukk<
1R2<mjpm3z

Friom, 000000 nnym, € 20000

)

fm+n, 00000

Kiyky
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0000S'=R/Z0000bgi =0 mod 10000

0000 f:([0,1),{0,1}) — (S',bs) 00000000 f:[0,1] — ROD
pof=f00 f(0)=0000000000000000A(f)=/(1)000
O h(f)eZzO000000 h:Map(([0,1],{0,1}),(S%,bs1)) — Z 00000
f1~ f2:(0,1],{0,1}) — (St,bs:) OO DO h(f1) =h(f.)000. 0000
00o0o0o00f0 00000000 F:[0,1]x([0,1],{0,1}) — (S, bg1)
00000000 F:[0,1]x[0,1] — ROOpoF=FOOOO0O0O000O
O00000000F(s,0)€ ZOOO n0O0F-n00000FO0O000O
O0F(s,0)=0000000000000000F(s,1)eZ0000000
h(f1) = F(0,1), h(f2) = F(1,1) 00000 0A(f1) =h(f) 0000

000000 A00000 ¢:m(Shbg) =]([0,1],{0,1}), (S, bg1)] —
Z O000OOO0OOOeOOO0O0O0O0O0OO00O0O0Ff : ([0,1),{0,1}) —
(S,bg1) (i=1,2)000000000 f:[0,1] — ROOpo f; = f;,

00 £(0)=0000000000000f4f:[0,1] — RO fiifa(t) =
~ 1
2 0,5
e e lsD s hnoonooa) = A+
L2t =1+ f1(1) (te
):

[5:1D)

h(f2)BO00([Allf2]) = e([AD+e(f2])BO0O00O0F : ([0,1],{0,1}) —
(SLber) DODODOOF : ([0,1],{0,1}) — (SL,bsx) DODDODOO0DODO
Of:[0,1] — ROOpof=f00 f(0)=00000000000
ft)=f(1l—t)—f(1)O00pof=F00 f(0)=000000000000
D000Af)=-mf)DO00(fI") =—»(f)B00D00

0000000000000
000 5.10 D?={(z,y) € R* | 2% +y* <1},

St=0D? ={(z,y) e R* |2 +y?*=1},000 b=(1,00000
00000 d:(SY,b) — (D%b)0000

i :m(SLb) — m(D%b) 000000000 f:D?—S100foi=
id: 00000000000000000
000510000 fo0i=idgs 000 00000 fuix = idy, (s14) = idz 00
D000000m(D%b)~{1} 0000 fd, =0000000000

000 5.20 20000000000 R*030000000000 R*O
goboooooboon

000 5.20000R*\{0}0 R*\{0}0O0DO0O0OOO0OOO0OODOOO0O0OO
O h:R*\{0} — R*\{0} 0000 m(R*\{0},b) = (R*\ {0},h(»)) 000
O0m (R*\ {0},b) = Z, m(R*\ {0},r(b)) 2000000
000530 (1)0000 XOO0O0OO0OO0O ADDODDOXOOOO da(x) O
dﬂ@z&iﬁﬂ%@DDDDDD@:X—HRDDDDDDDDDDDD
(%XDDDDDDDDDfh“whDDDDH@:n?qM@DDDD
0000 F:X —ROOOD0OOOOOODOODO
(3)000000000 X00O0oDoooOo {Uy,...,U0,} 00000000
0000é0000000000MSO00000O00O0M

e 00000 zeXO600 B,(6)0D00O0D0DOUY (je{l,....k})
00oo0oo

gobOs30000000
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5.2 UO00OOOOODOOOo

00 54 X=U,UU,, Uy, U, 000000U, Us, Up =U1 NU, D0 O
O0000D000beU,p,=U0,n0,000000000 4 : Uy — Uy,
ip: U1y — U, 0000000000000000000 4y, : 1y (Upa, b) —
T1(U1,b), igs : m(Ur2,b) — m(Us,b) 000 0000000000000
oooo

1— N — m(Uy,b) * 1 (U, b) — m1(X,b) — 1

0000m(Up,b)*m(Uz,b) D0000D00N OO (Uy,b)%m(Uy,b) 00
000 {irea(izea) ™t |aem (U, b)}00000000000000MMO
DDDDDDDDDDDDDDDDDDDwﬂmﬁ)(;bynwgmmmm

™1 12,
oo

ooo 5.50

X ={(z,9,2) € B* | (@ + )2~ 2)" +22 = 1)
Ul 2) € B [y =0, (a2 4 22 < 1)

0000X000000X000000000
000550000000
000 5.60 00 f:S'=R/2rZ — R* O

f(0) = (cos(29){2 + cos(360) },sin(20){2 + cos(36)}, sin(39))

00000 O fSYHYODODOODOR—f(SYH0OODDOO0ODOO0OO0OOOO
oDo0OoDooooo
(DDD:K%%@|@ﬁ+fﬂﬂf®2+£:ﬂ}DDDDDDDDDDD
0000D0000D000000)
00D0000000000DO00D0OD0O0O0DO

00000 R*-f#(SHY00DD0D0 ZOOOOOOOOO0OOOOOOO
0000D0D00D0O0oo

gobsed0d0dOO0OOO

gogodoobobobododga

(DO f:([0,1,{0,1}) — (U1 UTz,0) 0000 f~HUh), f~1(Uz) OO
000000000000000000000 NODOOO[0,1]000 NO

1
DDDDDﬂL—W%MHM]MDDDI&DDDDDDﬂ%M]m\M%

%\M%UHDDDDDﬂ%ﬂHﬂDDDDvaUh%J@DDDDD

m—1 m

MN—F—§l=/m0B0000

[~ fimtnbfelmanebfsiysh . . iyv—1b0fn

0000 Ymibfmt7m 0 U3 000 U, 00000000000 O00000
0O00o000O00O00oood

(2)00000000000 £:([0,1],{0,1}) — (4 UUs,b) 0 b0 00
00000000000000000 F:[0,12 — U;ul,00F(1,t) =
f(t), F(0,t) = b, F(s,0) = F(s,1) =b000000000000F L(Uy),
F-Y(U,)000000000000000000000000NOOOOO
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%%L%pqﬁﬁi%]mmmmmmm
%DDDDDDF%}%H]M\M%MAUQL@DDDDDFgg%)
0600000 e O Uy, Us, U 0000000 4, D0OO0OFOOO
DDDDDDDDDG%}%FﬁDDDDDG:mu%—wﬁuwmmm
O00G(L,t) = fxih...bfwn O fye OO0 @ (U, b) 000 m1(Us,b) 00D O
0000000000000 f0 m(Up,b) 000 m(Us,b) 0000O0DO0
00000000 [f|0000000000000 @

00000 U, U,0000000000000000000000000
000000000000000 U, 000 U,00000000,000 Us
0OooO000O00 U,0000 U,0000000000U;,,0000000
000000000000 aem(Up,b) 000000, 000000000
000000 m(Uh,b) 00000 i,00000, 00000000000
m(Us,b) 00000 42,a000000000000

00000000000000000000000000000000
000000000 frn, Gmns hmn, kme 000000000000000
m(UL,b) 000 m(Us,b) 00DO0DD

00000000000000000 fun & Fmm189m—1.a8hms 000
00000000000000 Uy, U 0000 my(Uy,b), m(Us,b) 00O
00000000000 hmnbkmn, fmalgn, 0000000000000
U000 U, 00O0O000000m(Uy,b), m(Us,b) D000000000
000000000 U,0000U,000000000000000000
a €m (Ui, b) 0000 d1,alise) ' 0000000000

00000000000 fNbfneb. . 0fvny O gv-11bgn-120..-098-1,§
OANODOOOOOOOODO0000000

00 (0,120 N20D0OO000]

Inibfnel . BfnN
~ (gn-1,18hn1)0(kn10gNn -1 28hN2)0 - B(kN N —1lgN—1,n)
=gn-1,10(hn18kN1)BgN—1.28hN20 - . B(hN N—18EN N—1)0gN—1.N
~gn_1,109N—120.. . IgN-1,N
bgN—1,20 ... Bgn—1nE(hN1bkNT)IgN 1,20 . . BgN—1. N
igN-1,38. . BgN-1,NF ...
tgN—1TNI(hN N—10kN N—1)IgN—1,N

00000000000000gN-1,199N-1,20---0g8v—1,8 O fn—110fn—120. . 0fv—1 N
OANDOOOOODOOOODOOOoOoOOoOo

gN-1,109N—120.. . BgN—1,N
~ fN—1a0fnv—12b0. . Bfvo N
Bfv—120. .- 0fn—1 N (fvo1abgn—1 )0 vo1 20 Bfv—1 N
0fn—130. BfNo N (fvo12ign—12)8 N3l v N
1(fN—1,N09N—1,N)

00000000gy hg1h...01v 0 b0000000000000000
OO0oO0OANOOODOOOOOOOO00O

5.3 UUoodobbboodgobo

oon
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fas)945 f55

hisa
Jaalgaa  |fsa

hs3
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hs2
fa2(942 f52

hs1
fajgan |fs:
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